

## **Request for Funding**

. All funds must be used by May 1, 2019. A final program evaluation must be submitted by May 15, 2019. (Requests will not be accepted without the requesting parties signature on page 2)\*

## \*\*\*Please complete all sections.\*\*\*

Requester:	Nancy L	Andrew	US		
Project Title:	Nancy L. Andrews Instruments for CES				
School Name:	Clermont Elementary School				
Academic Subject:	Music		J	5	
Grade(s):	Pre-K	through	5th grade	including ESE	
Number of Students:	483	J	J	,	
Number of Participating Teachers:	one				
Amount Requested:	\$ 1325.	69			
Please provide a detailed budg	s project.				
Expense Category:		Amount:	Reason:		
Program Materials (Consumable)					
Program Materials (Non-Consumable):		1227.49	Instruments	last many years	
Transportation:				•	
Program Implementation (not to exceed 10%):					
Other (Please Specify Expense):		98.20	shipping cost	2	
TOTALS		\$1325,69			
In Kind Contributions that benefitted project:					
Project Detail					

Other Funding Sources: Our PTO already donated funds to support our	
Other Funding Sources: Our PTO already donated funds to support our 2' All-State Elementary Choir students (very proud of that!), we also had a donation for me to start a music cheb with	
we also had a donation for me to start a music cheb with	
some basic needs. No other tunds have been found.	
Program Rationale: (Why is this program important?) This amazing title I school is full of students who have never had music in school due to cuts years ago. I want	
them to experience music to its tulest and get mythin in their lives,	
Every student will have the opportunity to play the wide variety of instruments listed, experiencing music and rhythm with hands on activities.	
Program Evaluation Method: (How will you measure teacher and student success?) Students will learn the names of each instrument and the various sounds they make. They will use these sounds not only to play music but to enhance writing and reading activities as well.	
Program Timeline: (provide a project start date and completion date)  These instruments will be used immediately upon arrival and will continue to be used and enjoyed for years to come.	
Principal  Assistant Superintendent/Superintendent  (A principal, assistant superintendent or superintendent signature is required for all requests over \$2,000.00. The superintendent's signature is required for all requests over \$5,000.00. The superintendent's signature is also required for all requests over \$6,000.00. The superintendent's signature is also required for all requests over \$1,000.00. The superintendent's signature is also required for all requests over \$1,000.00. The superintendent's signature is also required for all requests over \$1,000.00. The superintendent's signature is also required for all requests over \$1,000.00. The superintendent's signature is also required for all requests over \$1,000.00. The superintendent's signature is also required for all requests over \$1,000.00. The superintendent's signature is also required for all requests over \$1,000.00. The superintendent's signature is also required for all requests over \$1,000.00. The superintendent's signature is also required for all requests over \$1,000.00. The superintendent's signature is also required for all requests over \$1,000.00. The superintendent's signature is also required for all requests over \$1,000.00. The superintendent's signature is also required for all requests over \$1,000.00. The superintendent's signature is also required for all requests over \$1,000.00. The superintendent's signature is also required for all requests over \$1,000.00. The superintendent's signature is also required for all requests over \$1,000.00. The superintendent's signature is also required for all requests over \$1,000.00. The superintendent's signature is also required for all requests over \$1,000.00. The superintendent's signature is also required for all requests over \$1,000.00. The superintendent is also required for all requests over \$1,000.00. The superintendent is also required for all requests over \$1,000.00. The superintendent is also required for all requests over \$1,000.00. The superintendent is also required for all requests over \$1	est:
*Requesting party has read and agrees with the funding policies of the Educational Foundation.  Signed:	
To be completed by foundation staff/board	
Program meets Foundation Mission/Funding Policy: Yes or No	
Director Recommendations:	
Executive Board Recommendations:	
Approved Denied  President Signature Date	

## Dear Educational Foundation of Lake County,

I am attaching this letter to my grant application so that I can go into further detail of our request. This is my first year at Clermont Elementary School, an incredible Title One school in the heart of Clermont. These students have never had music in school before, due to budget cuts years ago.

Many of my students have never played basic instruments before and for now I have borrowed some instruments from a generous elementary school in Lake County that has allowed me to let my students experience hands on rhythmic fun! I would love for these students to experience a variety of instruments and rhythmic activities.

I understand this grant specifically mentioned STEM in the educational program. Percussion instruments can be a great resource for understanding pitch, sound waves, frequency, and sound lessons. The basic principal of rhythm in music is based on math. Music enhances every aspect of learning that happens in the classroom.

I am also implementing the Reading, Writing, Talking and Thinking in my classroom this year as students Read books with me and enhance them with sounds and rhythms. Students will be writing poems and adding rhythm and instruments to their writing. Students work in groups and listen to one another and think about the processes that we learn. Music and rhythm will only add play, creativity and fun to their learning experience here at Clermont Elementary.

Thank you for considering my proposal and know that we are grateful for all you do for Lake County students and teachers.

1/15 Janey L Andrews

Sincerely,

Mrs. Nancy Andrews

Music Teacher

Clermont Elementary School

## MUSIC ROOM WISHLIST BUDGET

Kinder Mallets for Glockenspiels	\$6.20 x 5 sets =	\$ 31.00		
Mallets for wooden headed Small Glockenspiels	\$7.00 x 4 sets =	\$ 28.00		
2306 Mallets, 1" Hard Maple Head	\$1.75 × 5 sets =	\$ 8.75		
2315 Mallets, 3/4" Medium Rubber Head	\$2.75 x 4 sets =	\$ 11.00		
Rhythm Sticks (one plain, one fluted)				
Set of 12 is cheaper	\$22.95 x 2 sets =	\$ 45.90		
Castanets	\$1.00 x 5 sets =	\$ 5.00		
Handle Castanet	\$4.25 x 2 sets =	\$ 8.50		
Clave - traditional	\$4.75 x 2 sets =	\$ 9.50		
Guiro - 8 inch		\$ 8.95		
Guiro - 10 inch		\$ 10.95		
Stirring Xylophone	\$15.95 x 1 set =	\$ 15.95		
C Major Diatonic scale Boomwhackers Set	\$20.00 x 2 sets =	\$ 40.00		
C Major Bass Diatonic scale Boomwhackers Set	\$38.00 x 1 set =	\$ 38.00		
Wood block with mallet	\$ 5.75 x 2 sets =	\$ 11.50		
Tone Block with mallet	\$ 2.95 x 2 sets =	\$ 5.90		
Twin Tone Blok with mallet	\$ 3.95 x 2 sets =	\$ 7.90		
Crow Sounder with mallet	\$ 5.50 x 2 sets =	\$ 11.00		
Triangle - 4"	\$ 3.95 x 2 sets =	\$ 7.90		
Triangle - 5"	\$ 4.25 x 2 sets =	\$ 8.50		
Triangle - 6"	\$ 4.95 x 2 sets =	\$ 9.90		
Triangle - 8"	\$ 6.75 x 2 sets =	\$ 13.50		
Triangle Striker	\$ 1.00 x 8 sets =	\$ 8.00		

Triangle holder with ball grip  Cowbell - EZ Grip  A-Go-Go Bell  Double Ago-go  Finger Cymbals  Chicken Shakers (Egg shakers)  Small Cabasa  8" Shakere  Mini Maracas  Super Maracas  Super Maracas  Toobaloo  Small Thunder Tube  30" Rainstick  Tubano Drum  Djembe Drum  Mallet with felt covering  Mallet with felt covering  Mallet with felt covering  Mallet with felt covering  Single Row Tambourine  \$5.95 \times 2 sets = \$11.90  Estival Bongo drums  Festival Bongo drums  \$32.95 \times 2 sets = \$65.90  COST: Shipping estimate: TOTAL COST: (Cost estimate from "Music is Elementary" catalog.)									
A-Go-Go Bell       \$ 16.99         Double Ago-go       \$ 19.95         Finger Cymbals       \$ 8.95 × 2 sets = \$ 17.90         Chicken Shakers (Egg shakers)       \$ 1.75 × 6 sets = \$ 10.75         Small Cabasa       \$ 18.95         8" Shakere       \$ 28.95         Mini Maracas       \$ 6.25 × 5 sets = \$ 31.25         Super Maracas       \$ 9.50 × 5 sets = \$ 47.50         Toobaloo       \$ 5.00         Small Thunder Tube       \$ 6.50         30" Rainstick       \$ 15.95         Tubano Drum       \$ 99.00 × 2 = \$ 198.00         Djembe Drum       \$ 62.95 × 2 = \$ 125.90         Mallet with felt covering       \$ 5.25 × 5 = \$ 26.25         Mini Djembe       \$ 24.95 × 2 = \$ 49.90         Lollipop drums       \$ 11.95 × 6 sets = \$ 71.70         Sound Shapes (5 pack set)       \$ 5.95 × 2 sets = \$ 11.90         10" Single Row Tambourine       \$ 5.95 × 2 sets = \$ 13.90         Festival Bongo drums       \$ 32.95 × 2 sets = \$ 65.90         COST:       \$ 98.20         TOTAL COST:       \$ 1325.69	Triangle holder with ball grip		\$	1.85 x	8 sets =	\$	14	4.80	
Double Ago-go	Cowbell - EZ Grip					\$	15	5.95	
Finger Cymbals       \$ 8.95 x 2 sets = \$ 17.90         Chicken Shakers (Egg shakers)       \$ 1.75 x 6 sets = \$ 10.75         Small Cabasa       \$ 18.95         8" Shakere       \$ 28.95         Mini Maracas       \$ 6.25 x 5 sets = \$ 31.25         Super Maracas       \$ 9.50 x 5 sets = \$ 47.50         Toobaloo       \$ 5.00         Small Thunder Tube       \$ 6.50         30" Rainstick       \$ 15.95         Tubano Drum       \$ 99.00 x 2 = \$ 198.00         Djembe Drum       \$ 62.95 x 2 = \$ 125.90         Mallet with felt covering       \$ 5.25 x 5 = \$ 26.25         Mini Djembe       \$ 24.95 x 2 = \$ 49.90         Lollipop drums       \$ 11.95 x 6 sets = \$ 71.70         Sound Shapes (5 pack set)       \$ 5.95 x 2 sets = \$ 13.90         8" Single Row Tambourine       \$ 5.95 x 2 sets = \$ 13.90         Festival Bongo drums       \$ 32.95 x 2 sets = \$ 65.90         COST:       \$ 98.20         TOTAL COST:       \$ 1325.69	A-Go-Go Bell					\$	16	5.99	
Chicken Shakers (Egg shakers)       \$ 1.75 × 6 sets = \$ 10.75         Small Cabasa       \$ 18.95         8" Shakere       \$ 28.95         Mini Maracas       \$ 6.25 × 5 sets = \$ 31.25         Super Maracas       \$ 9.50 × 5 sets = \$ 47.50         Toobaloo       \$ 5.00         Small Thunder Tube       \$ 6.50         30" Rainstick       \$ 15.95         Tubano Drum       \$99.00 × 2 = \$198.00         Djembe Drum       \$62.95 × 2 = \$125.90         Mallet with felt covering       \$ 5.25 × 5 = \$ 26.25         Mini Djembe       \$ 24.95 × 2 = \$49.90         Lollipop drums       \$ 11.95 × 6 sets = \$ 71.70         Sound Shapes (5 pack set)       \$ 5.95 × 2 sets = \$ 11.90         8" Single Row Tambourine       \$ 5.95 × 2 sets = \$ 13.90         Festival Bongo drums       \$ 32.95 × 2 sets = \$ 65.90         COST:       \$ 98.20         TOTAL COST:       \$ 1325.69	Double Ago-go					\$	19	9.95	
Small Cabasa       \$ 18.95         8" Shakere       \$ 28.95         Mini Maracas       \$ 6.25 x 5 sets = \$ 31.25         Super Maracas       \$ 9.50 x 5 sets = \$ 47.50         Toobaloo       \$ 5.00         Small Thunder Tube       \$ 6.50         30" Rainstick       \$ 15.95         Tubano Drum       \$ 99.00 x 2 = \$ 198.00         Djembe Drum       \$ 62.95 x 2 = \$ 125.90         Mallet with felt covering       \$ 5.25 x 5 = \$ 26.25         Mini Djembe       \$ 24.95 x 2 = \$ 49.90         Lollipop drums       \$ 11.95 x 6 sets = \$ 71.70         Sound Shapes (5 pack set)       \$ 5.80         8" Single Row Tambourine       \$ 5.95 x 2 sets = \$ 13.90         10" Single Row Tambourine       \$ 6.95 x 2 sets = \$ 13.90         Festival Bongo drums       \$ 32.95 x 2 sets = \$ 65.90         COST:       \$ 98.20         Shipping estimate:       \$ 98.20         TOTAL COST:       \$ 1325.69	Finger Cymbals		\$	8.95 x	2 sets =	\$	17	7.90	
8" Shakere       \$ 28.95         Mini Maracas       \$ 6.25 x 5 sets = \$ 31.25         Super Maracas       \$ 9.50 x 5 sets = \$ 47.50         Toobaloo       \$ 5.00         Small Thunder Tube       \$ 6.50         30" Rainstick       \$ 15.95         Tubano Drum       \$99.00 x 2 = \$198.00         Djembe Drum       \$62.95 x 2 = \$125.90         Mallet with felt covering       \$5.25 x 5 = \$26.25         Mini Djembe       \$ 24.95 x 2 = \$49.90         Lollipop drums       \$ 11.95 x 6 sets = \$ 71.70         Sound Shapes (5 pack set)       \$ 58.00         8" Single Row Tambourine       \$ 5.95 x 2 sets = \$ 13.90         10" Single Row Tambourine       \$ 6.95 x 2 sets = \$ 65.90         COST:       \$ 98.20         Shipping estimate:       \$ 98.20         TOTAL COST:       \$ 1325.69	Chicken Shakers (Egg shakers)		\$	1.75 ×	6 sets =	\$	10	0.75	
Mini Maracas       \$ 6.25 x 5 sets = \$ 31.25         Super Maracas       \$ 9.50 x 5 sets = \$ 47.50         Toobaloo       \$ 5.00         Small Thunder Tube       \$ 6.50         30" Rainstick       \$ 15.95         Tubano Drum       \$99.00 x 2 = \$198.00         Djembe Drum       \$62.95 x 2 = \$125.90         Mallet with felt covering       \$5.25 x 5 = \$26.25         Mini Djembe       \$ 24.95 x 2 = \$49.90         Lollipop drums       \$ 11.95 x 6 sets = \$ 71.70         Sound Shapes (5 pack set)       \$ 5.95 x 2 sets = \$ 11.90         8" Single Row Tambourine       \$ 5.95 x 2 sets = \$ 13.90         Festival Bongo drums       \$ 32.95 x 2 sets = \$ 65.90         COST:       \$ 98.20         Shipping estimate:       \$ 98.20         TOTAL COST:       \$ 1325.69	Small Cabasa					\$	18	3.95	
Super Maracas       \$ 9.50 x 5 sets = \$ 47.50         Toobaloo       \$ 5.00         Small Thunder Tube       \$ 6.50         30" Rainstick       \$ 15.95         Tubano Drum       \$99.00 x 2 = \$198.00         Djembe Drum       \$62.95 x 2 = \$125.90         Mallet with felt covering       \$5.25 x 5 = \$26.25         Mini Djembe       \$ 24.95 x 2 = \$49.90         Lollipop drums       \$ 11.95 x 6 sets = \$ 71.70         Sound Shapes (5 pack set)       \$ 5.95 x 2 sets = \$ 11.90         8" Single Row Tambourine       \$ 5.95 x 2 sets = \$ 13.90         Festival Bongo drums       \$ 32.95 x 2 sets = \$ 65.90         COST:       \$ 1227.49         Shipping estimate:       \$ 98.20         TOTAL COST:       \$ 1325.69	8" Shakere					\$	28	8.95	
Toobaloo       \$ 5.00         Small Thunder Tube       \$ 6.50         30" Rainstick       \$ 15.95         Tubano Drum       \$99.00 x 2 = \$198.00         Djembe Drum       \$62.95 x 2 = \$125.90         Mallet with felt covering       \$5.25 x 5 = \$26.25         Mini Djembe       \$ 24.95 x 2 = \$49.90         Lollipop drums       \$ 11.95 x 6 sets = \$71.70         Sound Shapes (5 pack set)       \$ 5.95 x 2 sets = \$11.90         8" Single Row Tambourine       \$ 5.95 x 2 sets = \$13.90         Festival Bongo drums       \$ 32.95 x 2 sets = \$65.90         COST:       \$1227.49         Shipping estimate:       \$ 98.20         TOTAL COST:       \$1325.69	Mini Maracas		\$	6.25 x	5 sets =	\$	31	1.25	
Small Thunder Tube       \$ 6.50         30" Rainstick       \$ 15.95         Tubano Drum       \$99.00 x 2 = \$198.00         Djembe Drum       \$62.95 x 2 = \$125.90         Mallet with felt covering       \$5.25 x 5 = \$26.25         Mini Djembe       \$ 24.95 x 2 = \$49.90         Lollipop drums       \$ 11.95 x 6 sets = \$71.70         Sound Shapes (5 pack set)       \$ 58.00         8" Single Row Tambourine       \$ 5.95 x 2 sets = \$11.90         10" Single Row Tambourine       \$ 6.95 x 2 sets = \$13.90         Festival Bongo drums       \$ 32.95 x 2 sets = \$65.90         COST:       \$1227.49         Shipping estimate:       \$ 98.20         TOTAL COST:       \$1325.69	Super Maracas		\$	9.50 x	5 sets =	\$	47	7.50	
30" Rainstick \$15.95  Tubano Drum \$99.00 × 2 = \$198.00  Djembe Drum \$62.95 × 2 = \$125.90  Mallet with felt covering \$5.25 × 5 = \$26.25  Mini Djembe \$24.95 × 2 = \$49.90  Lollipop drums \$11.95 × 6 sets = \$71.70  Sound Shapes (5 pack set) \$5.800  8" Single Row Tambourine \$5.95 × 2 sets = \$11.90  10" Single Row Tambourine \$6.95 × 2 sets = \$13.90  Festival Bongo drums \$32.95 × 2 sets = \$65.90  COST: \$1227.49  Shipping estimate: \$98.20  TOTAL COST: \$1325.69	Toobaloo					\$	Ę	5.00	
Tubano Drum       \$99.00 $\times$ 2 = \$198.00         Djembe Drum       \$62.95 $\times$ 2 = \$125.90         Mallet with felt covering       \$5.25 $\times$ 5 = \$26.25         Mini Djembe       \$24.95 $\times$ 2 = \$49.90         Lollipop drums       \$11.95 $\times$ 6 sets = \$71.70         Sound Shapes (5 pack set)       \$58.00         8" Single Row Tambourine       \$5.95 $\times$ 2 sets = \$11.90         10" Single Row Tambourine       \$6.95 $\times$ 2 sets = \$13.90         Festival Bongo drums       \$32.95 $\times$ 2 sets = \$65.90         COST:       \$1227.49         Shipping estimate:       \$98.20         TOTAL COST:       \$1325.69	Small Thunder Tube					\$	ć	6.50	
Djembe Drum       \$62.95 x 2 = \$125.90         Mallet with felt covering       \$5.25 x 5 = \$26.25         Mini Djembe       \$24.95 x 2 = \$49.90         Lollipop drums       \$11.95 x 6 sets = \$71.70         Sound Shapes (5 pack set)       \$58.00         8" Single Row Tambourine       \$5.95 x 2 sets = \$11.90         10" Single Row Tambourine       \$6.95 x 2 sets = \$13.90         Festival Bongo drums       \$32.95 x 2 sets = \$65.90         COST:       \$1227.49         Shipping estimate:       \$98.20         TOTAL COST:       \$1325.69	30" Rainstick					\$	15	5.95	
Mallet with felt covering $\$5.25 \times 5 =$ $\$26.25$ Mini Djembe $\$24.95 \times 2 =$ $\$49.90$ Lollipop drums $\$11.95 \times 6 \text{ sets} =$ $\$71.70$ Sound Shapes (5 pack set) $\$5.95 \times 6 \text{ sets} =$ $\$11.90$ 8" Single Row Tambourine $\$5.95 \times 2 \text{ sets} =$ $\$11.90$ 10" Single Row Tambourine $\$6.95 \times 2 \text{ sets} =$ $\$13.90$ Festival Bongo drums $\$32.95 \times 2 \text{ sets} =$ $\$6.90$ COST: $\$1227.49$ Shipping estimate: $\$98.20$ TOTAL COST: $\$1325.69$	Tubano Drum	5	\$9	9.00 x	2 =	\$1	198	8.00	
Mini Djembe $$24.95 \times 2 = $49.90$ Lollipop drums $$11.95 \times 6 \text{ sets} = $71.70$ Sound Shapes (5 pack set) $$58.00$ 8" Single Row Tambourine $$5.95 \times 2 \text{ sets} = $11.90$ 10" Single Row Tambourine $$6.95 \times 2 \text{ sets} = $13.90$ Festival Bongo drums $$32.95 \times 2 \text{ sets} = $65.90$ COST: $$1227.49$ Shipping estimate: $$98.20$ TOTAL COST: $$1325.69$	Djembe Drum	5	\$6	2.95 x	2 =	\$1	12!	5.90	
Lollipop drums \$ 11.95 x 6 sets = \$ 71.70  Sound Shapes (5 pack set) \$ 58.00  8" Single Row Tambourine \$ 5.95 x 2 sets = \$ 11.90  10" Single Row Tambourine \$ 6.95 x 2 sets = \$ 13.90  Festival Bongo drums \$ 32.95 x 2 sets = \$ 65.90  COST: \$ \$1227.49  Shipping estimate: \$ 98.20  TOTAL COST: \$ 1325.69	Mallet with felt covering	\$	5	.25 x 5	=	\$	26	5.25	
Sound Shapes (5 pack set)       \$ 58.00         8" Single Row Tambourine       \$ 5.95 x 2 sets = \$ 11.90         10" Single Row Tambourine       \$ 6.95 x 2 sets = \$ 13.90         Festival Bongo drums       \$ 32.95 x 2 sets = \$ 65.90         COST:       \$ 1227.49         Shipping estimate:       \$ 98.20         TOTAL COST:       \$ 1325.69	Mini Djembe	\$	5 2	24.95 x	2 =	\$4	19	.90	
8" Single Row Tambourine       \$ 5.95 x 2 sets = \$ 11.90         10" Single Row Tambourine       \$ 6.95 x 2 sets = \$ 13.90         Festival Bongo drums       \$ 32.95 x 2 sets = \$ 65.90         COST:       \$ 1227.49         Shipping estimate:       \$ 98.20         TOTAL COST:       \$ 1325.69	Lollipop drums	4	5 1	11.95 ×	6 sets =	\$	71	.70	
10" Single Row Tambourine       \$ $6.95 \times 2 \text{ sets} = $ 13.90$ Festival Bongo drums       \$ $32.95 \times 2 \text{ sets} = $ 65.90$ COST:       \$1227.49         Shipping estimate:       \$ 98.20         TOTAL COST:       \$1325.69	Sound Shapes (5 pack set)					\$	58	3.00	
Festival Bongo drums       \$ 32.95 x 2 sets = \$ 65.90         COST:       \$1227.49         Shipping estimate:       \$ 98.20         TOTAL COST:       \$1325.69	8" Single Row Tambourine	\$	5	5.95 x	2 sets =	\$	11	.90	
COST:       \$1227.49         Shipping estimate:       \$ 98.20         TOTAL COST:       \$1325.69	10" Single Row Tambourine	\$	5	6.95 x	2 sets =	\$	13	.90	
Shipping estimate: \$ 98.20 TOTAL COST: \$1325.69	Festival Bongo drums	4	; 3	32.95 x	2 sets =	\$	65	5 <u>.90</u>	
	Shipping estimate: TOTAL COST:	7.)				\$	9	8.20	)